
0.0 0.2 0.4 0.6 0.8 1.0
0.0

0.2

0.4

0.6

0.8

1.0

0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0

_new.geojson.template / intersection



0.0 0.5 1.0 1.5 2.0 2.5

0.0

0.5

1.0

1.5

2.0

2.5

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

Result (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

basic1_poly.geojson / intersection



0.0 0.5 1.0 1.5 2.0 2.5

0.0

0.5

1.0

1.5

2.0

2.5

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

Result (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

basic1_poly.geojson / union



0.0 0.5 1.0 1.5 2.0 2.5

0.0

0.5

1.0

1.5

2.0

2.5

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

Result (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

basic1_poly.geojson / diff



0.0 0.5 1.0 1.5 2.0 2.5

0.0

0.5

1.0

1.5

2.0

2.5

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

basic1_poly.geojson / xor



0.0 0.5 1.0 1.5 2.0 2.5

0.0

0.5

1.0

1.5

2.0

2.5

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

Result (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

basic2_poly_with_hole.geojson / intersection



0.0 0.5 1.0 1.5 2.0 2.5

0.0

0.5

1.0

1.5

2.0

2.5

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)

0.0 0.5 1.0 1.5 2.0 2.5

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)

basic2_poly_with_hole.geojson / union



0.0 0.5 1.0 1.5 2.0 2.5

0.0

0.5

1.0

1.5

2.0

2.5

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

Result (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

basic2_poly_with_hole.geojson / diff



0.0 0.5 1.0 1.5 2.0 2.5

0.0

0.5

1.0

1.5

2.0

2.5

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)

basic2_poly_with_hole.geojson / xor



0.0 0.5 1.0 1.5 2.0 2.5 3.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0 A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

basic3_multi_poly.geojson / intersection



0.0 0.5 1.0 1.5 2.0 2.5 3.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0 A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

Result (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

basic3_multi_poly.geojson / union



0.0 0.5 1.0 1.5 2.0 2.5 3.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0 A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

basic3_multi_poly.geojson / diff



0.0 0.5 1.0 1.5 2.0 2.5 3.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0 A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)

basic3_multi_poly.geojson / xor



0.0 0.5 1.0 1.5 2.0 2.5 3.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

basic4_multi_poly_with_hole.geojson / intersection



0.0 0.5 1.0 1.5 2.0 2.5 3.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)

basic4_multi_poly_with_hole.geojson / union



0.0 0.5 1.0 1.5 2.0 2.5 3.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

basic4_multi_poly_with_hole.geojson / diff



0.0 0.5 1.0 1.5 2.0 2.5 3.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

basic4_multi_poly_with_hole.geojson / xor



0.0 0.5 1.0 1.5 2.0 2.5 3.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
A (poly = 3, ring = 1)
A (poly = 4, ring = 1)
A (poly = 5, ring = 1)
B (poly = 1, ring = 1)
B (poly = 2, ring = 1)
B (poly = 3, ring = 1)
B (poly = 4, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

Result (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0

checkerboard1.geojson / union



1.00 0.75 0.50 0.25 0.00 0.25 0.50 0.75 1.00

1.00

0.75

0.50

0.25

0.00

0.25

0.50

0.75

1.00

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

1.00 0.75 0.50 0.25 0.00 0.25 0.50 0.75 1.00

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)

1.00 0.75 0.50 0.25 0.00 0.25 0.50 0.75 1.00

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)

closed_loop1.geojson / union



0.0 0.2 0.4 0.6 0.8 1.0

0.0

0.2

0.4

0.6

0.8

1.0

1.2

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

collinear_segments1.geojson / xor



0 50 100 150 200 250 300

0

50

100

150

200

250

300

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 1, ring = 3)
A (poly = 1, ring = 4)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)

0 50 100 150 200 250 300 0 50 100 150 200 250 300

daef_cross_selfintersecting.geojson / xor



0 50 100 150 200 250 300

0

50

100

150

200

250

300 A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)

0 50 100 150 200 250 300

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)

0 50 100 150 200 250 300

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)

daef_holed_rectangle2.geojson / xor



0 50 100 150 200 250 300

0

50

100

150

200

250

300 A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 1, ring = 3)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)

0 50 100 150 200 250 300

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 2, ring = 2)
Result (poly = 3, ring = 1)

0 50 100 150 200 250 300

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 1, ring = 3)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 2, ring = 2)
Result (poly = 3, ring = 1)

daef_polygonwithholes_holed.geojson / xor



0.50 0.75 1.00 1.25 1.50 1.75 2.00 2.25 2.50
0.50

0.75

1.00

1.25

1.50

1.75

2.00

2.25

2.50 A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
B (poly = 2, ring = 1)

0.50 0.75 1.00 1.25 1.50 1.75 2.00 2.25 2.50

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

0.50 0.75 1.00 1.25 1.50 1.75 2.00 2.25 2.50

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
B (poly = 2, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

disjoint_boxes.geojson / union



0.025 0.030 0.035 0.040 0.045 0.050 0.055 0.060
+1.176e2

3.255

3.260

3.265

3.270

3.275

3.280

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.025 0.030 0.035 0.040 0.045 0.050 0.055 0.060
+1.176e2

Result (poly = 1, ring = 1)

0.025 0.030 0.035 0.040 0.045 0.050 0.055 0.060
+1.176e2

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

fatal1.geojson / intersection



0.025 0.030 0.035 0.040 0.045 0.050 0.055 0.060
+1.176e2

3.255

3.260

3.265

3.270

3.275

3.280

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.025 0.030 0.035 0.040 0.045 0.050 0.055 0.060
+1.176e2

Result (poly = 1, ring = 1)

0.025 0.030 0.035 0.040 0.045 0.050 0.055 0.060
+1.176e2

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

fatal1.geojson / union



0.025 0.030 0.035 0.040 0.045 0.050 0.055 0.060
+1.176e2

3.255

3.260

3.265

3.270

3.275

3.280

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.025 0.030 0.035 0.040 0.045 0.050 0.055 0.060
+1.176e2

Result (poly = 1, ring = 1)

0.025 0.030 0.035 0.040 0.045 0.050 0.055 0.060
+1.176e2

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

fatal1.geojson / diff



79.894 79.892 79.890 79.888 79.886 79.884 79.882 79.880

40.436

40.438

40.440

40.442

40.444

40.446

40.448

40.450
A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

79.894 79.892 79.890 79.888 79.886 79.884 79.882 79.880

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

79.894 79.892 79.890 79.888 79.886 79.884 79.882 79.880

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

fatal2.geojson / intersection



79.894 79.892 79.890 79.888 79.886 79.884 79.882 79.880

40.436

40.438

40.440

40.442

40.444

40.446

40.448

40.450
A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

79.894 79.892 79.890 79.888 79.886 79.884 79.882 79.880

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 1, ring = 3)
Result (poly = 1, ring = 4)

79.894 79.892 79.890 79.888 79.886 79.884 79.882 79.880

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 1, ring = 3)
Result (poly = 1, ring = 4)

fatal2.geojson / union



79.894 79.892 79.890 79.888 79.886 79.884 79.882 79.880

40.436

40.438

40.440

40.442

40.444

40.446

40.448

40.450
A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

79.894 79.892 79.890 79.888 79.886 79.884 79.882 79.880

Result (poly = 1, ring = 1)

79.894 79.892 79.890 79.888 79.886 79.884 79.882 79.880

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

fatal2.geojson / diff



0 50 100 150 200 250 300 350
0

25

50

75

100

125

150

175

200

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0 50 100 150 200 250 300 350

Result (poly = 1, ring = 1)

0 50 100 150 200 250 300 350

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

fatal3.geojson / intersection



0 50 100 150 200 250 300 350
0

25

50

75

100

125

150

175

200

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0 50 100 150 200 250 300 350

Result (poly = 1, ring = 1)

0 50 100 150 200 250 300 350

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

fatal3.geojson / union



0 5 10 15 20 25 30 35
0.0

2.5

5.0

7.5

10.0

12.5

15.0

17.5

20.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0 5 10 15 20 25 30 35

Result (poly = 1, ring = 1)

0 5 10 15 20 25 30 35

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

fatal4.geojson / union



0 5 10 15 20 25 30 35
0.0

2.5

5.0

7.5

10.0

12.5

15.0

17.5

20.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0 5 10 15 20 25 30 35

Result (poly = 1, ring = 1)

0 5 10 15 20 25 30 35

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

fatal4.geojson / intersection



2.0 1.5 1.0 0.5 0.0 0.5 1.0 1.5 2.0

2.0

1.5

1.0

0.5

0.0

0.5

1.0

1.5

2.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)

2.0 1.5 1.0 0.5 0.0 0.5 1.0 1.5 2.0

Result (poly = 1, ring = 1)

2.0 1.5 1.0 0.5 0.0 0.5 1.0 1.5 2.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

filling_rectangle.geojson / union



0.0 0.2 0.4 0.6 0.8 1.0

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

hourglasses.geojson / intersection



0.0 0.2 0.4 0.6 0.8 1.0

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

hourglasses.geojson / union



0.0 0.2 0.4 0.6 0.8 1.0

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

hourglasses.geojson / xor



0.0 0.2 0.4 0.6 0.8 1.0

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

hourglasses.geojson / diff



0.0 0.2 0.4 0.6 0.8 1.0

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

hourglasses.geojson / diff_ba



10.0 7.5 5.0 2.5 0.0 2.5 5.0 7.5 10.0

10.0

7.5

5.0

2.5

0.0

2.5

5.0

7.5

10.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

10.0 7.5 5.0 2.5 0.0 2.5 5.0 7.5 10.0

Result (poly = 1, ring = 1)

10.0 7.5 5.0 2.5 0.0 2.5 5.0 7.5 10.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

intersections_at_endpoints.geojson / union



0 50 100 150 200 250 300 350 400

0

50

100

150

200

250

300

350
A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0 50 100 150 200 250 300 350 400

Result (poly = 1, ring = 1)

0 50 100 150 200 250 300 350 400

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

issue103.geojson / union



0 50 100 150 200 250 300 350 400

0

50

100

150

200

250

300

350
A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0 50 100 150 200 250 300 350 400

Result (poly = 1, ring = 1)

0 50 100 150 200 250 300 350 400

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

issue103ba.geojson / union



100 150 200 250 300

100

125

150

175

200

225

250

275

300 A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

100 150 200 250 300

Result (poly = 1, ring = 1)

100 150 200 250 300

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

issue110.geojson / union



89.491 89.490 89.489 89.488 89.487

0.002

0.003

0.004

0.005

0.006

0.007

+4.048e1

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)

89.491 89.490 89.489 89.488 89.487

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 2, ring = 1)

89.491 89.490 89.489 89.488 89.487

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 2, ring = 1)

issue68.geojson / diff



2 4 6 8 10 12

0

2

4

6

8

10 A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)

2 4 6 8 10 12

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)

2 4 6 8 10 12

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)

issue69.geojson / diff



93.538 93.536 93.534 93.532 93.530

0.002

0.003

0.004

0.005

0.006

0.007

0.008

0.009

+4.204e1
A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)

93.538 93.536 93.534 93.532 93.530

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 2, ring = 1)

93.538 93.536 93.534 93.532 93.530

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 2, ring = 1)

issue69_sub1.geojson / union



176450 176500 176550 176600 176650 176700 176750 176800

172050

172100

172150

172200

172250

172300

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)

176450 176500 176550 176600 176650 176700 176750 176800

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)

176450 176500 176550 176600 176650 176700 176750 176800

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)

issue71.geojson / union



100 80 60 40 20 0

300

200

100

0

100

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

100 80 60 40 20 0

Result (poly = 1, ring = 1)

100 80 60 40 20 0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

issue76.geojson / intersection
This test case is a bit dubious, because the input polygons aren't closed, but it seems to work nevertheless.



100 80 60 40 20 0

300

200

100

0

100

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

100 80 60 40 20 0

Result (poly = 1, ring = 1)

100 80 60 40 20 0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

issue76.geojson / union
This test case is a bit dubious, because the input polygons aren't closed, but it seems to work nevertheless.



100 80 60 40 20 0

300

200

100

0

100

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

100 80 60 40 20 0

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

100 80 60 40 20 0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

issue76.geojson / diff
This test case is a bit dubious, because the input polygons aren't closed, but it seems to work nevertheless.



0.656 0.657 0.658 0.659 0.660 0.661 0.662 0.663

0.0005

0.0010

0.0015

0.0020

0.0025

0.0030
+5.156e1

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)

0.656 0.657 0.658 0.659 0.660 0.661 0.662 0.663

Result (poly = 1, ring = 1)

0.656 0.657 0.658 0.659 0.660 0.661 0.662 0.663

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)
Result (poly = 1, ring = 1)

issue93.geojson / intersection



5.08 5.07 5.06 5.05 5.04 5.03

56.77

56.78

56.79

56.80

56.81

56.82

56.83

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
A (poly = 2, ring = 2)
B (poly = 1, ring = 1)

5.08 5.07 5.06 5.05 5.04 5.03

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 2, ring = 1)

5.08 5.07 5.06 5.05 5.04 5.03

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
A (poly = 2, ring = 2)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 2, ring = 1)

issue96.geojson / intersection



400 200 0 200 400

400

200

0

200

400

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

400 200 0 200 400

Result (poly = 1, ring = 1)

400 200 0 200 400

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

issue99.geojson / intersection



100 50 0 50 100

100

50

0

50

100

100 50 0 50 100 100 50 0 50 100

many_rects.geojson / union



0.0 0.2 0.4 0.6 0.8 1.0

0.0

0.2

0.4

0.6

0.8

1.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)

0.0 0.2 0.4 0.6 0.8 1.0

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 2, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)
Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 2, ring = 1)

nested_polys1.geojson / diff



0.0 0.2 0.4 0.6 0.8 1.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 1, ring = 3)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)

0.0 0.2 0.4 0.6 0.8 1.0

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 1, ring = 3)
Result (poly = 1, ring = 4)
Result (poly = 2, ring = 1)

0.0 0.2 0.4 0.6 0.8 1.0

nested_polys2.geojson / diff



10.0 7.5 5.0 2.5 0.0 2.5 5.0 7.5 10.0

10.0

7.5

5.0

2.5

0.0

2.5

5.0

7.5

10.0

A (poly = 1, ring = 1)
A (poly = 1, ring = 2)
A (poly = 2, ring = 1)
A (poly = 2, ring = 2)
B (poly = 1, ring = 1)
B (poly = 1, ring = 2)
B (poly = 2, ring = 1)
B (poly = 2, ring = 2)

10.0 7.5 5.0 2.5 0.0 2.5 5.0 7.5 10.0

Result (poly = 1, ring = 1)
Result (poly = 1, ring = 2)
Result (poly = 2, ring = 1)
Result (poly = 2, ring = 2)
Result (poly = 3, ring = 1)
Result (poly = 3, ring = 2)
Result (poly = 4, ring = 1)
Result (poly = 4, ring = 2)

10.0 7.5 5.0 2.5 0.0 2.5 5.0 7.5 10.0

nested_polys3.geojson / union



60 80 100 120 140 160 180 200
100

80

60

40

20

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

60 80 100 120 140 160 180 200

Result (poly = 1, ring = 1)

60 80 100 120 140 160 180 200

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

overlap_loop.geojson / intersection



60 80 100 120 140 160 180 200
100

80

60

40

20

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

60 80 100 120 140 160 180 200

Result (poly = 1, ring = 1)

60 80 100 120 140 160 180 200

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

overlap_loop.geojson / union



60 80 100 120 140 160 180 200
100

80

60

40

20

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

60 80 100 120 140 160 180 200 60 80 100 120 140 160 180 200

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

overlap_loop.geojson / diff
This test case currently has a wrong result (tests for empty result).



1880 1860 1840 1820 1800 1780

20

0

20

40

60

80

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

1880 1860 1840 1820 1800 1780

Result (poly = 1, ring = 1)

1880 1860 1840 1820 1800 1780

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

overlap_y.geojson / intersection



1880 1860 1840 1820 1800 1780

20

0

20

40

60

80

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

1880 1860 1840 1820 1800 1780

Result (poly = 1, ring = 1)

1880 1860 1840 1820 1800 1780

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

overlap_y.geojson / union



1880 1860 1840 1820 1800 1780

20

0

20

40

60

80

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

1880 1860 1840 1820 1800 1780 1880 1860 1840 1820 1800 1780

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

overlap_y.geojson / diff
This test case currently has a wrong result (tests for empty result).



10 12 14 16 18 20 22 24

20

15

10

5

0

5

10

15

20

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
A (poly = 3, ring = 1)
A (poly = 4, ring = 1)
B (poly = 1, ring = 1)
B (poly = 2, ring = 1)
B (poly = 3, ring = 1)
B (poly = 4, ring = 1)

10 12 14 16 18 20 22 24

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

10 12 14 16 18 20 22 24

overlapping_segments1.geojson / xor



2.5 5.0 7.5 10.0 12.5 15.0 17.5 20.0

2.0

1.5

1.0

0.5

0.0

0.5

1.0

1.5

2.0

2.5 5.0 7.5 10.0 12.5 15.0 17.5 20.0 2.5 5.0 7.5 10.0 12.5 15.0 17.5 20.0

overlapping_segments2.geojson / union



390 400 410 420 430 440 450

0

10

20

30

40

50
A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

390 400 410 420 430 440 450

Result (poly = 1, ring = 1)

390 400 410 420 430 440 450

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

overlapping_segments3.geojson / union



0 5 10 15 20

0

1

2

3

4

5

6

7 A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0 5 10 15 20

Result (poly = 1, ring = 1)

0 5 10 15 20

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

polygon_trapezoid_edge_overlap.geojson / intersection



0 5 10 15 20

0

1

2

3

4

5

6

7 A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0 5 10 15 20

Result (poly = 1, ring = 1)

0 5 10 15 20

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

polygon_trapezoid_edge_overlap.geojson / union



0 5 10 15 20

0

1

2

3

4

5

6

7 A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0 5 10 15 20

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

0 5 10 15 20

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

polygon_trapezoid_edge_overlap.geojson / diff



0 100 200 300 400 500

0

50

100

150

200

250

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
A (poly = 3, ring = 1)
A (poly = 4, ring = 1)
A (poly = 5, ring = 1)
A (poly = 6, ring = 1)
B (poly = 1, ring = 1)

0 100 200 300 400 500

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)
Result (poly = 5, ring = 1)
Result (poly = 6, ring = 1)

0 100 200 300 400 500

rust_issue12.geojson / union Swap A/B broken



1.00 0.75 0.50 0.25 0.00 0.25 0.50 0.75 1.00

1.00

0.75

0.50

0.25

0.00

0.25

0.50

0.75

1.00

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

1.00 0.75 0.50 0.25 0.00 0.25 0.50 0.75 1.00 1.00 0.75 0.50 0.25 0.00 0.25 0.50 0.75 1.00

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

tie.geojson / intersection



1.00 0.75 0.50 0.25 0.00 0.25 0.50 0.75 1.00

1.00

0.75

0.50

0.25

0.00

0.25

0.50

0.75

1.00

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

1.00 0.75 0.50 0.25 0.00 0.25 0.50 0.75 1.00

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

1.00 0.75 0.50 0.25 0.00 0.25 0.50 0.75 1.00

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)

tie.geojson / union



0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

touching_boxes.geojson / intersection



0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0

Result (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

touching_boxes.geojson / union



0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0

0.0

0.5

1.0

1.5

2.0

2.5

3.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0

Result (poly = 1, ring = 1)

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0

A (poly = 1, ring = 1)
B (poly = 1, ring = 1)
Result (poly = 1, ring = 1)

touching_boxes.geojson / diff



2.0 1.5 1.0 0.5 0.0 0.5 1.0 1.5 2.0

2.0

1.5

1.0

0.5

0.0

0.5

1.0

1.5

2.0

2.0 1.5 1.0 0.5 0.0 0.5 1.0 1.5 2.0 2.0 1.5 1.0 0.5 0.0 0.5 1.0 1.5 2.0

vertical_ulp_slopes1.geojson / union



2 1 0 1 2

2

1

0

1

2

2 1 0 1 2 2 1 0 1 2

vertical_ulp_slopes2.geojson / union



8 6 4 2 0 2 4 6 8

1.00

0.75

0.50

0.25

0.00

0.25

0.50

0.75

1.00 A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
B (poly = 2, ring = 1)

8 6 4 2 0 2 4 6 8

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

8 6 4 2 0 2 4 6 8

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
B (poly = 2, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

xor_holes1.geojson / xor



4 3 2 1 0 1 2 3 4

1.00

0.75

0.50

0.25

0.00

0.25

0.50

0.75

1.00 A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
B (poly = 2, ring = 1)

4 3 2 1 0 1 2 3 4

Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

4 3 2 1 0 1 2 3 4

A (poly = 1, ring = 1)
A (poly = 2, ring = 1)
B (poly = 1, ring = 1)
B (poly = 2, ring = 1)
Result (poly = 1, ring = 1)
Result (poly = 2, ring = 1)
Result (poly = 3, ring = 1)
Result (poly = 4, ring = 1)

xor_holes2.geojson / xor


